KaaccHaa pabora.

[eomeTpuyeckue purypeoi.
OTpe3ok. AavHa OTpeskKa.




[eomeTpHyeckue purypol.
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«reo» - «K3eM/1a»

«MEeTpeo» - <USMEPATDb»



[eomeTpHyeckue purypol.
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BbIBOA: CyMMa pdcCmOsSHUU 0m moYKu 00
KOHU08 Ompe3Kd pdeHd 0/1UuHe Ompe3Kd,
ec/1uU moYKd NpuHAo/1emum ompesKky, u
60/1bW€e 0/1UHbl OMpe3Kd, ec/lu MoYKa He
NpUHaodaexum ompesky.



AM=3CM,BM=5CM\

AM +BM= 3CcM+5CcM =8 cm > 7 CM.
OTtBeT: TOUKa M He /1eXXuT Ha oTpe3Ke AB.

AN= 4 cm, BN= 3 cm,

AN + BN= 4 cm +3 cm = 7 CM.
OTtBeT: TOUKa N /1eXXKUT Ha oTpe3Ke AB

AK=2cm,BK=5c¢C
AK + BK = 2CM+5CM‘7CM.
OTBeT TO4YKa K n1eXXuT Ha oTpe3Ke AB

gCM BP = 6 cm,
AP+ 3CM + 6 Cm =9 CM > 7CM.
OTBeT: TOUKa P He 1eXXUT Ha oTpe3ke AB
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